logarithmic V , Vy-data
logV =(log
logV, =logV + 0,02
log [Vo, V

+logL)/2 log

uy=(A = 550)/502

=-0,350\~u ]
logLo = -0, 35[J)\‘U570]
Adaptation: A, =557

maximum
log(L m)=-0,02
Lm=0,95
Threshold
t=0,00

-data

+log )/2log

+0,08

Uy=(A — 550) / 50
=-0,35n-u 1)
=-0,35L,-u ]

=445

log
Adaptation: A

maximum
log(L m)=-
Lm=0,81
Threshold
t=0,00

0,08

3

-data

=(log
+0,08

' +log )/2log

700 A/nm

U=\ = 550) / 50,
=-0,35-u 1)
=-0,350,-u |

=445

600

log
Adaptation: A

maximum
log(L m)=-0,08
Lm=0,81
Threshold
t:=0,00

R

CEL90-5A

logarithmic L , Lo-data

logL =(log +log
logL, =logL + 0,35
log [Lo, L., Co,

700 A/nm

Uy=(A = 550) / 50,
= -0,35[n-u- ]
=-0,35[,-u ]

=570

)12 log
log
Adaptation: A

maximum
log(L m)=-0,35
Lm=0,44
Threshold
40,00

logarithmic V , Vo-data
logV =(log
logVo =logV + 0,02
log [Vo, V.,

+logL)/2 log

1 Lol
557570

uy=(\ — 550) / 5
=-0,35\-u ] o

logL, = -0 35[.1)\ Us7q]

Adaptation: A, =557

.aximum
1og(Lm)=—0,02
Lm=0,95
Threshold

., -data
+log )/2log
+ 0,08 [o]s]

Adaptation: A

0)/50,
= —0,350—u ]2
=-0,350,-u |

=445
maximum
log(L m)=—0,08
Lm=0,81
Threshold
tz=0,00

£
It
L

<
B
{

600

., -data
+log )/2log
+ 0,08 [o]s]

=(log

uy=(A — 550) / 50
=-0,35p\-u ]
=-0,35u\-u ]

Adaptation: A

700 A/nm

2
2

=445
maximum
log(L m)=-0,08
m=0,81
Threshold
tz=0,00

-1=2[( /1 )-1]
=1=2(=1Ar)=1]
3 U

600
CEL90-6A
logarithmic L , Lo-data
logL =(log +log )/2 log
logLo =logL +0,35 log
log[Lo, L, 0,

Adaptation: A

700 A/nm

ur=(A = 550) / 50,
= -0,350-u- ]
=-0,350,-u |

=570
maximum
log(L m)=-0,35
L m=0,44
Threshold
t=0,00

L
(Sof)-1
()1

Ux

600

CEL90-8A

700 A/nm



